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L. If the nth partial sum of the series }"2° a, is s, = §—;‘§~;—t—f, thy
Yone1On is

(A) 0

‘EB(djvergent
v ' @ .
§CA>
v
L &0' v +2. Using data from a sample of size n, the inte ope coeffi- )\

~~
g
S
NI Wik

- 13> cients from an ordinary least squares regress z, are a and b
2 respectively. Which of the following is false?
e Vv
l"y’; &3' /" (A) Y (v —a—bx;)z; =

t o lyi—a—Bz|=0 -

g B) XL m=a+ T, Q »
,‘ %‘Q%‘l%/ (C) a and b are the solution to % Z(yi—a—pBz:)?=0 2

,r PR a and b are the solution
|
| v
| :%z%z% | ‘
'; 2 30 ey 32 Cfmsider a produc.f;ion =2z + 3y. For wl?a.t price .ra'ti.o‘*;%,
3,1—?)5 313 will a corner solutio; ¥, 1.6° (z = 0) bq possxble,}f the objective is
to minimize the costiof producing a given positive quantity zo of 2?

| : _(A) E=2/3 (B) = >2/3

_%%fj@%<ws ) o En2l3 i i

is ¢hosen randomly from the first billion natural numbers.
that the p’rodl_lgt.,'oh -'-nﬂ-“*{nbﬁf with its two immedi-
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5. Each of the four entries of a 2 x 2 matrix is filled by independe

. Let f:[0,1] = R be a convex fu @ ith f(0) = 0. Which of the L4 -:. 0
following is always true for f? " e

—(C) f(z) 2 af'(x)

ap - cd

choosing either 1 or —1 uniformly at random. What is the proba

that the matrix is singular?
(&) 4 wr T C)
©) 3 (D) 3

. We need to fill a 3 x 3 matrix by either 0 or @ach row -

has exactly one 0 and each column has exactly ne 0. The number of

ways we can do this is
(A) 8 '

(€) 4 (D)

. e

-

-t

-

JA) [ is differentiable e

t it is continuous

0, 1] if f is differentiable
(D) none of the
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\B

Q/ : v\
X - (')‘ i
+ ' @
Y. Consider a function f: [=1,1] = R shown in Figure 1. @

b f(x) 0

B | ,)(a._/( x A

* NS,

| e .

| 0 +

| i ol \

| 5 SO
f‘ Figure 1: f: [-

O

’} The value of . f f(:z;ﬂ = 1)da equa 3 L_G ) & C'xl)

(A)
(©)

BSl— Cofe—

| (D) : o vlac)o

10 The rank of the m() .ﬂ
" 2 Ly A o
J 1 2=l | :
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11. Let V be the vector space of polynomials p(z) of degree less thangér
equal to 2 that have real coefficients. T

Then T is a linear transformation \
from V to V if T is defined by

o s QU%'\’O’\Q' ~ \

(A) T(p(z)) =z + p(a w‘\" e
(B) T(p(z)) = ap(x)
: T(p(z)) = 512 /
(D) T(p(x)) = f x)dx where the constant of integration is taken to 7C
- be zero.
12. X is a random variable t'hat can take yaluestonly in [0,10]. P(X >
5) < 2and P(X <1) hen o
0%\ (T x
(A) E(X)>1
(B) E(X)<5 — y -\ o y O
> i 2
(C) E(X) > 0.5 and E(X)&"8% \3 y O o /3'
(D) None of the above i true
Gy =Y 00
13. Given data (—1,1),(0,0)(1,1) on (z,y), the standard deviations of
and yand the correlation coefficient of x and y are respectively 2 Na
/
\ \/— Oy = \/5/3, =) \\) @
B) ax-2/3 b, = 2/9, i =10
o

( - \
(B oy =H0 r is undefined ¢ U,_‘\ &
(D) Nome ofithe above Q
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14. An island nation has two potential vaccine firms: denoted as 1 g
2. Both need to invest in R&D to manufacture vaccines. The cos
R&D for firms 1 and 2 are f, and f; respectively. Once R&D ##%one,
the cost of per unit manufacturing of vaccine is drawn unforfly fro
[0,1]. The firms know their (fixed) cost of R&D but only kno t
the cost of per unit manufacturing is uniformly drawyffropsl, #.
I[* Total demand of vaccine is 1 unit and if firm i : upplies
g € [0,1] units and has a per unit cost of ¢, it i a Manufacuring

! cost of c,g; (along with f,). N
Suppose both firms invest in R&D but only per unit cost

ine. What is the
t is the fixed cost of

<)

firm is chosen to supply the entire one
P total expected cost of vaccination (¢
‘ R&D and expected cost of manufé

¥ (A) i+ fa+3 fat+}

| (C) fl+!2+§ 1+f2+% :

| 15. In question 14, suppose 5. Consider two more alternatives: o

i &
(b) Suppose both in R&D and both supply 1 units of NI

% (¢) Only i R&D and supplies the entire one unit of

he\tof ed cost of vaccination from the alternatives
as'| andcgw&ﬂy Demtethetotalexpectedcost

S e ey S
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16. India and China produce qnly shirts and pggr_l_qs using only 2 factors
of production: either higher skilled labour H or low M o5
Shirts are high skill labour intensive while phones are low skill labour
intensive. The production function for each good is identical in both

countries. India and China have equal amounts of lower skilled labotir, ¢

but India has a greater amount of higher skilled labour. Which i}
will India import? )
A) Shirts s

Phon.es‘/ ; 4 \
(C) Both Shirts and Phones™<~
(D) Neither Shirts nor Phones :

17. Continue with the same setup as in Questi t now China’s

N population doubles. The overall welfar, esentative agent in
. ~ India will:

i (A) Increase O \
(B) Decrease ]

)
(C) Stay the same
)

7] vy R

N
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19. Let the economy’s production function be given by ¥ =
. Y = output, A > 0is the level of technology (also cal
productivity), K is the capital stock, and L i the I¢
ment. Consider the standard supply-demand dingram fo
“ the previous question, except that there are
A time. The labor demand curve is given by
¥

tor productivity shock leads to a __in lalor der
employment,

o (A) w = th&- upward shift; fall \
(© w=%"—"}
} (D) w = }asd;

20. Virat and Mithali cal

Ol 1I'1 | S
of milk but dec amount of rice he congumes, Mithali, on the

»(B)/ Giffen good

j4) Normal good

LRI, o

Weo s e B
=

s g et Ty
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21. Continue with the same setup as in Question 20, and choose the an-
swer from below that will correctly fill in the blanks in the followir
sentence. With respect to rice, for Virat, the income effect mu
— than the substitution effect while for Mithali the incom eﬂ"ect)
must be ___ than the substitution effect if both Virat and N i
have standard well-behaved preference relations.

(A) greater, lesser (Bytesseresser—
(C),—\-ss_:ia!.ex.__g:ea.t.er (D) lesser, greatgf

a & 4
22. If the short-run IS-LM equilibrium occurs atea 18ve] of income above
the natural rate of output, in the long run 0}@1& .\Hll return to the

natural rate via U (_53
- (A) an increase in the price level ‘! )
(B) a decrease in the interest rate (1 y |

an increase in the money subﬁ%

Ea

(€)
{2 9 %D) a downward shift of the c&umptiom function

23. If the short-run aggregate urve is steep, the Phillips curve will

<&
The US dollar is expected to appreciate with respect to the pound
(the UK’s currency) '

B) The pound is expected to appreciate with respect to the US dollar
(C) Phe- i the UST i by S
(DY The interest rate in the US is expected to decrease

8
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25. Suppose there are two countries, B and C, that have no trade and
financial transactions with any countries except each other. B impo

a total of goods worth 10 million bollars from C, where a bo a
unit of B’s currency. B has no exports. Which of the followir:@
be true? =D ( wo impords, t\
(A) B has a capital account deficit @ r
| 18} €T CurTe-sesount-deficit - 2,
y r) v% C is buying assets from BYF

e

(A) rise when the real interest r
(B) not depend on the real i
M fall when the real intg

(D) depend only on the 1 real GDP

27. A cake of size 1 is to bewivided among two individuals 1 and 2.
Let z; be the share ake going to individual i, i = 1,2, where

nctions are uy (21, z2) = 1, and us(z1, 2) =

dlis e absoluio valus of o; iThe Fareto optimal ’\

\

® 02172
(D) None of the above

Scanned with CamScanner



+91-7678696772

B¢

%9

i MAEconomics.com ISI MSQE 2021 PEA ODD SET (DELHI)

28. Rohit spends all his money on dosas and filter coffee. He stays in
Delhi where each dosa and filter coffee cost the same. He eats 15
dosas and drinks 35 filter coffees in a week. He gets a chance to move
to either Chennai or Bangalore. In Chennai, he can just afford to have
Mdmmdlomsuﬂawinamk.LikeinDelhi,eachdosa @
filter coffee cost the same. In Bangalore, he can just afford to h

; 10 dosas and 20 filter coffees in a week. Here,2ﬁltercoﬂms&® :
same as 1 dosa. Where will &ohitpmfertostay?
(A) Delhi \
(B) Chennai
(C)?Gﬂsﬂllt’ '
Indifferent between Delhi and Chennai

29. Consider the IS-LM model with the real
vertical axis and output, Y, on the hqm

e, R, on the 2 \PUVQ/"
is. Now suppose ) 1

that the central bank chooses R for my, based on its own \
assessment, at R = R. In this case urve will '
(A) not exist

@—Sa{winummm“}z R
(C) upward sloping lke curve - |

' (D) None of the otherpti ; \
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30. Consider a supply-demand diagram for the labor market with an
ward sloping labor supply curve (L*) and a downward slopijng ]a@

demand curve (L¢). Let the wage be on the vertical axis, the

level of employment (L) be on the horizontal axis. Suppose t

is rigid above the equilibium wage at @, i.e., it fails to adjust to

the labor market. I'lzen‘ a reduction 113 labor demand ¢

(A) A.larger reduction in employment compared Fhe ¢ wages

exible

(B)A smaller reduction in employment co e case if wages
were flexible .

(C) The same reduction in emplovment to the case if wages
were flexible F

(D) None of the other options. ; Q 4 —
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